Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

GX354-0_0OP01890_W1_NO06_200s.txt / MJD 50551.656772 / burstid= 123

E Grey line: exponential fit Peak flux: 3.953+/- 0.482 c/s/cm? E
= | Black line: power law + gauss fit Fluence : 21.26+/- 3.29 c/cm? =
E Dashed line: power law o ' ’ 3
= Duration: 11.81+/- 2.71s E
— Best fit model: 1. —
= Best fluence model: 1. =
= Best duration model: 1. =
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; Exponential fit é
= Expon.time: 3.35+/- 0.63s (chi*red= 0.91) J
= | + fowt i | ! t3
; Power law fit é
= Power law index: -1.875+/- 0.277 (chi’-red= 0.90) 3
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— Power law fit plus Gaussian (st.dev.= 85.75+/-***** g, fracgs= 0.04+/- 0.88) =
- Power law index: -1.890+/- 0.300 (chi*-red= 0.91) 3
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